E-Practice
Primary 3 Issue 2

1. Fill in the blanks with the correct numbers.
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2. Fill in the blanks with the correct numbers.
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3. Dr Six had $8054. Madam Five paid him $1400 for medical fees.
He later paid Er Eight $4104 for repairing his machine.
How much does Dr Six have how?

()
- )
Dr Six has@now.

4. Mr One has $1111 and Madam Five has $5555. How much money must
Madam Five give fo Mr One so that they will have the same amount of
money?

5. Miss Three and Master Four received the same number of stickers from
Madam Five. Madam Five gave them 400 stickers in total. If Miss Three
has 795 stickers now, how many stickers did she have at first?

@6. Missy Seven accidentally fore - ;
Ms Seven's receipt. She lost ;

some parts of it. Can you help : & 2

6

her figure out the missing

digits so that she could & Nﬂ

re-write the receipt for 8 3,3)
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Answers

1. (a) 3825 (b) 9001 (c)4000 & (d)2334 (e) 1111 (f) 7520

2. (o) 6 (b)
1 (2) 3
4 9 0
(©) e (d)
‘ .@ 3
e 2 0 1

3. $8054 + $1400 = $9454
$9454 - $4104 = $5350
Dr Six has $5350 now.
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4. $5555 - $1111 = $4444
$4444 + 2 = $2222
Madam Five must give $2222 to Mr One.

5.400 + 2 = 200
795 - 200 = 595
She had 595 stickers at first.
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